
1) (17 ÷ 2) ÷ 12 x 8

Answer: ____________

2) 11/2 - 26/20

Answer: ____________

3) Round 3.60845 to 3 decimal places.

Answer: ____________

4) 2400 ÷ 75

Answer: ____________

5) (14 ÷ 17) + (11 x 142)

Answer: ____________

6) (14 ÷ 17) + (11 x 142)

Answer: ____________

7) 1710/18 ÷ 516/20

Answer: ____________

8) 3418 + 5771

Answer: ____________

9)
36  Find Volume of 
                         Hexagonal Pyramid 

36
36

Answer: ____________

10) 115/18 x 272/5

Answer: ____________

11) b

a o c
Measure angle boa 

Answer: ____________

12) Share 52 in the ratio 35:17

Answer: ____________

13) Find the range of the following set of data:

-0.5, 0.1, 16

Answer: ____________

14) Find the percentage change from 470 
to 188

Answer: ____________

15) Convert the following mixed number 
229/8 into an improper fraction.

Answer: ____________
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16) 'What is the probability of rolling 
factors of 14.when rolling a dice

Answer: ____________

17) 'What is the probability of rolling 
factors of 14.when rolling a dice

Answer: ____________

18) Find the range of the following set of data:

16, -12, 0.3, 7, -15, -0.8, 0.4, 5

Answer: ____________

19) 79.1 x 36.5

Answer: ____________

20) Share 90 in the ratio 78:12

Answer: ____________

21) Find area of square 
having each side (s)
equals 9999 m

Answer: ____________

22) 74447.4 ÷ 977

Answer: ____________

23)
40  Find Volume of Cone 

38

Answer: ____________

24) Find the median of the following set of data:

24, 2, 36, 6, 15, 39, 4, 32, 39, 25, 
23, 25, 34, 27, 31, 6, 34, 5, 26, 11

Answer: ____________

25) 76% of 353

Answer: ____________

26) 26/8 x 28/11

Answer: ____________

27) 351/14 ÷ 115/20

Answer: ____________

28) Find area of triangle
h = 7337 m, a = 
8768 m,
b = 9562 m, c = 
9696 m

Answer: ____________

29) 2700.7 - 4386.5

Answer: ____________

30) Find the percentage change from 268 
to 402

Answer: ____________
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31) Convert the following mixed number 
3713/4 into an improper fraction.

Answer: ____________

32) Convert the following improper 
fraction 334/12 + 336/7 into a mixed 
number

Answer: ____________

33) Round 29.89089 to 2 significant 
figures.

Answer: ____________

34) Round 21.67568407089 to 2 
significant figures.

Answer: ____________

35) 70 x 10

Answer: ____________

36) 70 x 10

Answer: ____________

37) 02:16 am To 11:44 am

Answer: ____________

38) Decrease 268 by 1/134

Answer: ____________

39) (-1655) - 5643

Answer: ____________

40) 7273 + (-1258)

Answer: ____________

Total: ___ / 40
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Answers:

1) 2) 41/5 3) 3.608 4) 32 5) 6) 7) 37/261

8) 9189 9) 40405.281238967 10) 507/30 11) 158 12) 1 : 51 13) 16.5 14) -60%

15) 185/8 16) 1/3 17) 1/3 18) 31 19) 2887.15 20) 1 : 89 21) 99980001m

22) 76.2 23) 15121.532639279 24) 24 25) 268.28 26) 83/11 27) 337/315 28) 35078197m

29) -1685.8 30) 50% 31) 161/4 32) 674/21 33) 30 34) 22 35) 700

36) 700 37) 09 Hours 28 Mins 38) 266 39) -7298 40) 6015
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